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Defence and Strategic Studies
Paper III

TeT UG WMeh 3Teqa
YgAUteRt 111

Time Allowed : 2% Hours] [Maximum Marks : 150

Note : This paper contains seventy five (75) multiple choice questions. Each
question carries Two (2) marks. Attempt All questions.

AT : A1 YeUIhd TR gegel (75) gudEl U9 fooiel ofed. gdish Ueen @ ()
T . W Y gre.

1. Strategic studies accepts the | 1. TR AN TEN ALY Welal Af¥TSe

following features as basic R

assumptions :

(A) IRAIAE d Wdleh qeEd
(A) Realism and moral neutrality

(B) dr«daE d SAEIER
(B) Realism and idealism

- 1 (C) 9HrsIdle 9 qHEdag
(C) Imperialism and Colonialism

(D) Neo-realism and neo-liberalism (D) IS 9 FI-SCRATAS

2. The task of strategic doctrine is | 2. gt fagre ®@ ¥ -

to (A) ¥ ®UR 9RO 0!

(A) translate power into policy

(B) Helh® G IR 0

(B) prepare for a total war

(C) waifed Jgrel TR 0
(C) prepare for a limited war

(D) FeRd TR At
(D) Present a plan of battle
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Afghanistan emerged as a buffer
state between Russia and British

India because of its :
(A) History

(B) Location

(C) Ethnic composition
(D) Religion

The Marxist approach considers the

State as follows :

(z) It is a product of class

antagonism

@) It 1s an instrument of

exploitation
(z17) It is based on social contract

(tv) It accepts the Divine Origin

theory
(A) Only (i) is correct
(B) Only (i) and (i) are correct
(C) Only (2), (i) and (iii) are correct

(D) Only (iii) and (iv) are correct
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forfest wa 9 eren Areamed stwmiea
g ‘HEr’ € U Skl AR ?

(A) sfaeE
(B) T
(C) =if¥rsh G

(D) &4

A= A T ©

(@) o= faQeE

(i) TUesaumal @TEH

(iii) QSR IR

(fv) Schid=n faga AU,

(A) T (¢) SR 3T
(B) ¥ (i) 3T (j7) seR ™
(C) W (), (G7) W (i) SR AR

(D) T (i) 3 (jv) TR 3T




Read the following statements about

nationalism :

(z) Early nationalism was

monarchial

(1) The French Revolution

introduced the concept of

popular democracy

(zii) The Industrial Revolution,

American Revolution and the

French Revolution are the basis

of modern nationalism

(A) Only (iii) is correct

(B) Only (i) and (ii) are correct

(C) Only (i) and (iiz) are correct

(D) All the above three are correct
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qEaE Jad Sleitel | o=

() Qe Tegere 8 SISiel ggdra

&Il

LY N N o

(i) Whd USIhidA k9T Tshemal=i

Hheadl g

(i) Aren e widl, Tafteh= widl,

3O Sl shicht © STYfTen Usgagrl

Hra 3Ted

(A) F (jii) § IUR 3T

(B) ¥ (i) M0 (i) € SIS 3Ted

(C) ®& (§) 3T (i) T TSR ATed

(D) o Fel T ae’ 3T
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Walter Lippman argues that a
nation is secure to the extent to
which it is not in danger of sacrificing
its :

(A) Territory

(B) Government

(C) Sovereignty

(D) Core values

Olaf Palme’s Independent
Commission on Disarmament and

Security issues :

(A) argued that states can no longer
seek security at one anothers’

expense

(B) restated the relevance of
deterrence as a tool for Global

Security

(C) presented a case for human

security

(D) rejected the doctrine of
deterrence and called for a

collective security approach
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dicel T J=gErR T2 § geelia

(A) FeW
(B) H&HN
(C) wree
(D) 9= =<h

“Olaf Palme’s” =1 W3l STRNTIHR

et suftt gra= e

(A) SEAT=A Gt [T [ feehd

e

(B) SITdiieh FRAFS WA Haed

(C) ‘Al e’ Fehoddl HiSal

(D) WL oAl T6R 9 Ags

FraE TR




The concept of ‘Balance of Terror’

came to be articulated after :

(A) The bombing of Hiroshima and

Nagasaki

(B) The successful launching of the

Soviet Sputnik
(C) The Cuban Missile Crisis
(D) The disintegration of USSR

What is the core philosophy of the
non-aligned movement that has

continuing relevance today ?
(A) Opposition to military alliances

(B) Independent understanding of
world affairs and peace

approach

(C) Anticolonialism and anti-

imperialism

(D) New International Economic

Order
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‘g GqrEl SRedars =l Heheu

g wmY) HuIE STet ?

(A) feafemm snfor ARt Jeie &id
EiCa|

(B) Hiegitd ¥ ¥ SYUART

P rIres | o1 | MRS L [ | B R

(C) o &IOS HES

(D) HrEivg Ture fosm

ATIdT TBdsld Heced 3Tl 3TTR.

e 19 T daeH slg 7

(A) TR T foriy

(B) TMMAd=l TRIGM I S TSMIET

e Tds foam

(C) o9rRd faug 9 gursgare foliy

(D) & S Tk HH

[P.T.O.



10.

11.

12.

The “Science of Geopolitics” was

developed by :

(A) United States in the Cold War

period

(B) Britain in the context of sea

power

(C) Nazi Germany

(D) Russia

The Brahmos weapon system is a :
(A) ICBM

(B) Supersonic Cruise Missile

(C) Multi-Rocket Launcher System
(D) Nuclear Powered Submarine

The ABM treaty of 1972 was signed

by :

(A) USA and USSR

(B) USA and China

(C) NATO and Warsaw Pact

(D) China and USSR

10.

11.

12.
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quUsgs fagm g wivit fasdia
FA ?

~

(A) ST JST=N F@ST STHRD

(B) 9FR Y= HeHid foedd AR
Tl

(C) S S
(D) e

TRIS YIRS Ugd @ YhREl 3TE :
(A) W.ﬁ.ﬁ.@.

(B) {uidMIsh el SOUTE

(C) Acl-Uehe WAl—= el

(D) AT IsieR A IUEEN

1972 =1 QYU HL HIOTHE
et ?

(A) AR o Hedid |y

(B) SRR 9 =M

(C) NATO 9 9 &R

(D) =1 9 Wiug 99




13. Deterrence is a :

14.

(A)

(B)

(®);

(D)

Realist approach to managing

insecurity

Liberal approach to managing

insecurity

Marxist approach to managing

insecurity

Idealist approach to managing

insecurity

The American concept of “massive

retaliation” was an example of :

(A)

(B)

(®);

(D)

total war

limited war

surprise attack

deterrence
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13. T ©

14.

(A)

(B)

(®))

(D)

IETEEE IR B STl

I

RRAGAIE ToerehA B SAGeda=i

I

AR iR &1 STXfatadei

I

JTeeiae et @ SAgIfaradt

I

FANHER  ToRe& T’ B HehouHl

HIMES Bl ?

(A)

(B)

(®))

(D)

TERY g
waifed I§
TS gl

ERIRR]

[P.T.O.



15.

16.

Alfred Mahan looks at the defeat of

Napoleon as a :

(A) Success of sea power

(B) Success of land warfare tactics

(C) Success of use of cavalry in land

battles

(D) Success of the concert of Europe

According to Clausewitz war is a :

(A) Military instrument

(B) Economic instrument

(C) Moral instrument

(D) Political instrument
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Ne

15. 3Ihe HEMA Adfad—=n 9qe &l

(A) 9t vl fas=

(B) qHgs SEua-fasa

(C) Hggrd =ecaran fos/

(D) STaar 9 e femauaradt JadE

TITA 19T T[T STeTedl FHS AT

fos

16. FARMAS=N 74 I§ T :

(A) AR ST

(B) 3mféfer STl

(C) Sdier USRI

(D) TSR SYHI




17.

18.

The focus of the INF Treaty was

on :
(A) Long Range Missiles

(B) Submarine Launched Ballistic

Missiles

(C) Short Range and Intermediate

Range Missiles

(D) Short Range, Intermediate

Range and Long Range Missiles

The Baruch Plan placed before the
Atomic Energy Commission of the

UN focussed on :
(A) The Partial Test Ban Treaty

(B) The creation of an International

Atomic Energy Control Agency

(C) The ‘Atoms for Peace’ proposal

of President Eisenhower

(D) The UN

creation of a

Disarmament Commission

17.

18.
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INF IR & $™F 2l ?

(A) A Toodrd QUOme

(B) UMSEIRT AR HIOR  &YUME

(C) HHT o1 g9 Yood= QYU

(D) Hl, eI o e Uoodid aquE

TR TSI 3] FHell AR 3T

& AeMrEl g HF Bl 2

(A) 3TiElieh wliero idsie IR

(B) ST TS =0 Heem=
ffEa

(C) ‘el dfst’ & ARETele= g

(D) §IF T ISR ST

[P.T.O.



19.

20.

Irredentism is a form of :

(A) Pan Nationalism

(B) Imperialism

(C) Colonialism

(D) Separatism

The Nuclear Suppliers Group was

created to :

(A) implement the NPT

(B) strengthen the TAEA

(C) resolve the problems of

environmental pollution due to

the growth of nuclear reactors

(D) control the transfer of nuclear

material

19.

20.

FEB — 16313/I1T

JARUEE § i 3 ?

(A) HAM[h TG

(B) HHTSIA]

(C) JHRdqdg

(D) HIRAR

3SR YRASRR TSI |HE 7 ¥

o0 ATl ¢

(A) NPT =t STHeTISTa0

(B) IAEA = Sehelaniul

(C) oTvdieh WA 9AfaR SHagRET

ERENI

(D) oTfiaes §EH A=l el

ERENI

10
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21. The following were created as a | 921. YRATAT 1974 37U =N Td=
reaction to the Indian Nuclear Test gfas T Erelterds! ™ e ?
of 1974 : . .
@) el gidsy I
(1) Partial Test Ban Treaty y R
(1) 3TUelh GIASRR HHe
(i1) Nuclear Suppliers Grou R .
bP P (iii) A= 1978+ aMvelier Yfday
(zii) US Nuclear Non-Proliferation P
Act of 1978 .
(lv) TRaEa Rt Fe-3Ad I
(tv) Fissile Material Cut-off Treaty
(A) T (i) I (i) SeR 3Ted
(A) Only (i) and (ii) are correct
(B) ® (i) 9 (jv) S 3&d
(B) Only (i) and (iv) are correct
(C) H&d (ii) SR 8
(C) Only (ii) is correct
(D) K (i) o (iii) USSR
(D) Only (i) and (iii) are correct
29. Among the following category of 22. WiedlelYehl T qélﬁ' R Hgdld eh[UId]
armaments, which one of the new ‘Permissive Action Links’ & ga&fid
generation of weapon systems is Y W 2
fitted with ‘Permissive Action Links’
as safety measure : (A) TEEHR IS
(A) Chemical weapons (B) SdF =
(B) Biological weapons
(C) 3Mueiteh ¥
(C) Nuclear weapons
(D) Weather weapons D) T
11 [P.T.O.



23.

24.

Who among the following,

propounded the concept of ‘sub-

limited nuclear war’ ?

(A) Harkavey

(B) Henry Kissinger

(C) Andre Beaufre

(D) Sam Nunn

Who opined that “there is no single

cause of war. Peace is an equilibrium

among many forces” ?

(A) Quincy Wright

(B) Mahatma Gandhi

(C) Nelson Mandela

(D) Barak Obama

23.

24.
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“Hifed stelten JgT= SUHRT’ & Hehoa 1

U TIR hell 2

(A) T&d

(B) &=t fomdsR

(C) 3¢ oth

(D) 99 H

“YEE PG TE HRO AL S
¥ gEdere wEitel T I e @

HIOT WA :

(A) Tt e

(B) WereHT et

(C) A9 Heel

(D) s e

12
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25. In the context of Cold War, the | 95 m Hevld Teiieitie SvEr &
following country was not considered W RO A AR ?
a “East European” country :
(A) STsIHT
(A) Albania
(B) dicie
(B) Poland
(C) frce
(C) Finland
(D) AR
(D) Romania
26. MTCR is a global and multilateral 26. MTCR & SITI% Sggeit swamt @
regime for : ) ) )
(A) W9 ToAE 990 9 GOReg]
(A) Controlling the missile
technology and its proliferation . .
8y and 1is proferal (B) 9Rufeh &oqumre fEso
(B) Controlling the conventional
arms transfers - .
(C) TEFAlh IS FHNEX HIAT
(C) Controlling the flow of chemical
technology D) = = fafE s
(D) Revolution in Military Affairs
13 [P.T.O.



27.

28.

‘Operation Jeronimo’ was related

to :

(A) The killing of the US President

A. Lincoln

(B) The killing of Col. M. Gaddafi

(C) The killing of terrorist master-

mind Osama Bin Laden

(D) The killing of Iraqi President

Sadam Hussain

Ethnic based

nationalism

nationalism was the basis of :
(1) disintegration of USSR

(i) unification of Germany

(211) the Tamil struggle led by the
LTTE

(A) Only (i) is correct
(B) Only (i) and (ii) are correct
(C) Only (zi7) is correct

(D) All the above three are correct

27.

28.
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‘IMTEE SFE € S @d 2

(A) THRG= TS 3Tsed foteh A
ARUATETS!

(B) ®cl TH. TETH AT ARTAIS!

(C) SBIMAARIET HEtar SN i

ARH IMT AROITES

(D) TTHD USCHA! FEH AT A

HRUITETS

SR CIR I o e R e e i =

= [aV

eivd gure foeed

@)

(fi) STHA TohIhI

(i) LTTE gR afiedt shotell Hod

(A) T (7)) T S 38

(B) W& (7)) 30T (j7) SR 3Te

(C) ¥ (jii) T UK 2T&

(D) ot Hel o s 18

14



29.

30.

The term ‘Military Industrial

complex’ can be used to describe :

(A) Indian Defence Public Sector

Undertakings

(B) American Defence Industry

(C) Defence Industry of the Former

Soviet Union

(D) Defence Industry of China

The 9/11 terrorist attack led to :

(A) War against Iraq

(B) War against Chechnya

(C) War

against Iran

(D) War against Afghanistan

29.

30.
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‘TR R WHE' @ Ul o W

I ?

(A) YR GI&TU grasieh &

(B) 3mfth= orw=hl &

(C) TchTel= Hiegiud ToTET ashi

T

(D) <=1 Ishd 3N

9/11 =N <TEIIdaR! Boodral & 9oy

SAlAl ¢

(A) = foeg I

(B) w==1 fovg 935

(C) v faeg Is

(D) TRTiEH faeg Jg

15

[P.T.O.



31.

32.

The strait of Hormuz connects :

(A) Persian Gulf with the Gulf of

Oman and the Arabian Sea

(B) Mediterranean Sea with the

Red Sea and the Arabian Sea

(C) Red Sea with the Gulf of Aden

and the Arabian Sea

(D) Mediterranean Sea with the

Gulf of Oman and the Arabian

Sea

Uyghur region that saw ethno-

religions clashes is in :

(A) China

(B) Yugoslavia

(C) Turkey

(D) Russia

31.

32.
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(A) U e, UMY ek 9 SRETEH

T

(B) {HEAEIR Hiad olel 943 9 ST

T

(C) &l 9Hs died 3T+« Te®h o

SRR 993

(D) HHLIERR 9 3{HHED Tk A

ST HY5
FER YId S Aeier o wifHes doe et
@AY AR :
(A) =
(B) Frireatregian
(C) TH

D) W

16
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33. Following the announcement of the 33, TS 20071 =T T TR TS

New Defence Production Policy in

2001 India has :

(i) Continued to stress on self

sufficiency

(z1) Opened up the defence sector for

private participation

(zii) Preference to be given to
indigenous design,

development and manufacture
(zv) Involve the academic, research
and development institution

and technical and scientific

organisation in defence

production
(A) Only (i) is correct
(B) Only (i) and (iit) are correct
(C) Only (2), (iit) and (iv) are correct

(D) All the above four are correct

UM WeteTdeh] ShivTdT ST9ON Shiuamd
et ?

() wWI R 9 W) S0

(i) T & WISE AR Gl

HLO

(i) <M =, faw™ 9 SdAr|A IR

I

(fv) 31T, TN 3Mfo7 foshra Ten

a1for qifsres AfoT SIAfeh Tere I

T IAEAT  TEUTT

(A) T (i) SR 3T

(B) T (i) 30 (i) SR 2T

(C) Ha (7), (ii7) 3T (jv) TR 2T

(D) TTUh! IREl dUe 3T

17

[P.T.O.



34.

35.

36.

Under the Assam Accord of 1985,
the people from Bangladesh who had
come over to India would be treated

as illegal immigrants after
(A) 1965

(B) 1996

(C) 1971

(D) 1981

Who coined the term ‘Cyber-Space’ ?
(A) APJ Abdul Kalam

(B) Vikram Sarabhai

(C) W. Gibson

(D) Raja Ramanna
UNHCR deals with :

(A) Human Rights

(B) Apartheid

(C) Refugees

(D) Communication

34.

35.

36.
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1985 =1 EHAT HITAR ANTAIGY]

Y WRAd TIEAId Sciedl Tkl

JhTICYR SEdrd

(A) 1965

(B) 1996

(C) 1971

(D) 1981

‘HEER-TE ' BT WsE hIU qEN shedl ?
(A) APJ 3T5d Ha™
(B) fosra |remE

(C) ==, firsHA

(D) TS THAT

UNHCR &1 9@d &R :
(A) Al BFh

(B) =19

(C) wromedf

(D) <eUEau

18



37.

38.

Match the following and select the
correct answer from the codes given

below :
(@) Myanmar (1) East Timor

(b) Ethopia (2) Kurds

(¢) Indonesia (3) Kachin-Karen

d) Iraq (4) Eritrea
Codes

(A) (a)—=(4), (b)—(1), (c)~2), (d)—3)
(B) (a)—(3), (b)—(4), (c)<(1), (d)—~2)
(C) (a)—(2), (b)—(1), (c)3), (d)—4)
(D) (a)—=(4), (6)—3), (c)~2), (d)<1)

Shuttle diplomacy is a term

associated with Kissinger’s

Diplomacy in :
(A) Indo-China
(B) US-China
(C) Middle East

(D) US-USSR

37.

38.
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SiTrea S[eadl S0 3Teeh IW @alt foeied

Hehagd! AyA feen

(@ ®MAR (1) Y& fagR
b) T (2) TR

(c) TEMRM@EN  (3) HIfeH-H
(d) ¥ 4) wlfem
waa g

(A) (@)—4), (b)~1), ()—(2), (d)—(3)
(B) (@)—3), (b)~4), (c)=(1), (d)—~(2)
(C) (@)—~2), (b)~1), ()=(3), (d)—(4)

(D) (@)—4), (6)~3), ()—(2), (d)—(1)

foRdio=ar TS a9 Y TS

el ST @
(A) TEI-=F
(B) STHRRT-=I
(C) wem sfimn

(D) Hfh-TrEiug 99

19

[P.T.O.



39.

40.

41.

42.

Chechanians are fighting for
Independence from :

(A) Serbia
(B) Ukraine
(C) Belarus
(D) Russia

The following was not a part of the
former Yugoslavia State :

(A) Crotia
(B) Slovenia
(C) Romania
(D) Macedonia

Intifada is a term that describes :

(A) Jihad

(B) Palestinian uprising

(C) Israeli occupation of South
Lebanon

(D) Hezbollah’s war against
Israel

The most important pass through the
Hindu Kush mountains to enter
Pakistan from Afghanistan is :

(A) Mintaka Pass
(B) Karakoram Pass

(C) Banihal Pass
(D) Khyber Pass

39.

40.

41.

42.
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ST § EaAEES hivTEHed ded
e ?

(A) Ssit

(B) Teh

(C) darEd

(D) e

Eeeadeh!  JRAREAT TSATIeh! UK
J=d ?

(A) HiferEn

(B) wdtegfan

(C) A+

(D) "SI

‘Sfawel’ B v T Al

(A) ferr

(B) YRS A6

(C) =farur Ao SHEaT=n el

(D) fesoeen faeg soRA IS
ARMTEATHYT & fEgehet SIRHyH
qTfR T EEd oAt HeedTa A
AR

(A) faFesht A

(B) HUHIA AN

(C) dfTere ARt

(D) @I’ AN

20
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43. The “Solidarity movement” is | 43. ‘WicheRl Tods’ & HIMN FaHia
associated with : IR ?
(A) Hungary, 1956 (A) T, 1956
(B) Czechoslavia, 1967 (B) =hIetegifeal, 1967
(C) Poland, 1989 (C) TS, 1989
(D) Prussia, 1991 (D) TRIE, 1991
44. Boutros Boutros-Ghali’s report “An 44. ?FF-I HR ?T %Qlf REN b“f'“
Agenda for Peace” included the didl Hedlcdld LllcdlcAYehidl HHIARI
?
following : e
(1) Preventive Diplomacy ® "
(i1) Peace-making @) 3 Frafor
(i1i1) Peace-keeping (¢iz) JMAA &0 AT
(iv) Post conflict peace-building (tv) FSTA T FHE T
(A) Only (i) and (ii) are correct (A) T (@) 3O () § SR Aea
(B) Only (i), (ii) and (iii) are correct (B) e (i), (iz) ST (31z) & TSR e
(C) Only (i) and (iii) are correct (C) Fad (i) MU (i) T & ATed
(D) All the above four are correct (D) 9@ 99 9R sHeR 3Aed
45. Which one of the following is a | 45. M faaRENTER ¥Maa FHaRUmER
Gandhian technique of conflict FOd dF 3T ?
resolution ?
(A) 9aIg
(A) Satyagraha ’
(B) Trusteeship (B) foeRaHee
(C) Civil Resistance (C) =T falig
(D) Creating Security (D) TRen Fmfm &
21 [P.T.O.



46.

47.

48.

State level analysis of causes of war

uses this concept as basic :
(A) National Interest
(B) Colonialism/Imperialism

(C) Anarchic nature of the state

system
(D) Arms race

The principle of self-determination
as elaborated in International law
in the post-Second World War era
focussed on :

(A) Ethnic groups

(B) Colonies

(C) Imperialism

(D) Human Rights

The principle of “bilateralism” as a
form of diplomacy between India
and Pakistan was established by
the :

(A) Simla Agreement
(B) Lahore Declaration
(C) SAARC

(D) Agra Summit

46.

47.

48.
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- &{A JgTd RO 2wl 9

HehouqT & e oT’

(A) T SR

(B) dHIRdde/dEIdG

(C) TSZ-TATHT  STTSTehdl

(D) I e

Il HEgSMM STAW hIASAER

' T - EIRTAT Tealle TR shigd shad

AR -

(A) =iferR He
(B) EmEde]
(C) THr=IaIg
(D) HFel gk

O o UIfhE <0 fguefta qrdesier
TSI {0 ded 39 gEATUd &l
A

(A) e I

(B) @ER SfgLam
(C) 9rh
(D) 3mn frer 9iteg

22



49.

50.

51.

The concept of deterrence is based

on :
(A) Capability and Credibility
(B) Confidence and Trust

(C) War and Peace

(D) Peace and Order

Who is the author of the famous
treatise on Peace “Perpetual Peace :
A Philosophical Sketch” ?

(A) Cardinal Richelieu
(B) Immanuel Kant
(C) Woodrow Wilson
(D) Mahatma Gandhi
Human Security :

@)
7))

(ii0)

is about the People’s Security
is opposed to National Security

is not necessarily opposed to

state security
(iv)
(A)

is only about Human Rights
Only (i) and (iv) are correct

(B) Only (i) and (iiz) are correct

(C) Only @(ii) and (fv) are correct

(D) Only (i) and (iv) are correct

49.

50.

51.
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YA dcd el SNeid STHd ¢
(A) emar aAfor fagaraamat

(B) wad 9 fovam
(C) & & Maar

(D) waar o ¥F

gTadael A ‘Perpetual Peace :
A Philosophical Sketch’ ¥ J&ieh <hlvfl
feafeet ?

(A) wea fafemn

(B) SHMGSA <
(C) JgI faeem
(D) were e

el AT

() HFel A
(i) U graen faiy

(iii) o WS-y Hraen faie
A

(iv) HeI AT SRS

(A) WK (i) S0 (jv) S
(B) Wkl (i) SO (ij) SR 3R
(C) WK (ifi) M0 (jv) T M
(D) WK (i) SO (jv) SRS
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52.

53.

54.

International Committee of the Red

Cross (ICRC) is based in :
(A) New York

(B) Geneva

(C) Brussels

(D) The Hague

What type of approach to conflict is
the best ?

(A) I win—you lose
(B) Ilose—you lose and then I win

(C) I lose—you lose
(D) T win—you win

Amnesty International is an

example of one of the following :

(A) Non-gvernmental Organization

(NGO)

(B) Intergovernmental Organiza-

tion (IGO)

(C) Branch of the UN

(D) Branch of the International

Court of Justice

52.

53.

54.
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(A) T

(B) fSH==
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(D) &

TS IO YRR =l AR ?
(A) #t fSd—qmT 31

(B) W SRAI—TRI B oAfor qax
ISEX
(C) # TRA—T= T

(a) o

(D) #t fSwd—gwdt S

& 39

ARSI T Wl IeTieh] 3ETevl

A

(A) WIddT gE

(B) STAWSI™ Hee

(C) Tga T sufaym

(D) ARASL = Teh IUTAUN
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55.

56.

57.

Nuremberg war crimes trial was in

the context of :
(A) Nazi Germany
(B) Japan

(C) Yugoslavia
(D) Serbia

International Humanitarian Law

derives mostly from the following :
(A) Geneva Conventions of 1949
(B) Treaty of Versailles, 1919

(C) Universal
Human Rights, 1948

Declaration of

(D) UN Charter

Which of the following South Asian
country contributes the highest
number of UN peacekeeping

troops ?

(A) India

(B) Pakistan
(C) Bangladesh

(D) Nepal

55.

56.

57.

FEB — 16313/I1I

L e 1 < i P o e ) T o [ e A C B
T Geuld wdfael T

(A) it STEH

(B) U™

(C) Joiretfera
(D) gfs

ST AHAdl A J&ad: ST

R fafor sren .
(A) =T R (1949)
(B) Ig==n R (1919)

(C) |l BFhr=l STE™T (1948)

(D) T Tsgd GiaHH

ETeTerdeh] hIOd SI&T0T- ST eg
T TS T T Fatd S 9

efad ?

(A) ¥Rd
(B) dIfeR&i™
(C) STeTeT
(D) A9
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58.

59.

60.

“Conflict preventation is the first
stage of Peace-building.” Which of
the following documents proclaims

the above statement ?
(A) Helsinki Declaration
(B) Agenda for Peace
(C) Nixon Doctrine

(D) UN Charter

Who
highlighted

the
the

following

of

among
concept

“dysfunctional conflict ?
(A) Hans Morganthau
(B) Lewis Coser

(C) Neville Maxwell
(D) Quincy Wright

The idea of “Preventive diplomacy”

is associated with :

(A) Kurt Waldheim

(B) Dag Hammarskjold
(C) Botrous Botrous Ghali

(D) Banki Moon

58.

59.

60.
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“Fud el § vmdar fHiO seuEmn
qfgatt 2w s1gqal.’’ § fa=r wis
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(A) TAfgent feeam
(B) SISl ®BR g
(C) faga «ro

(D) T TN T8
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61.

62.

63.

Traditional approaches to the study

of international relations focus on :
(A) Data Collection

(B) Norms and values

(C) Hypothesis

(D) Scientific knowledge

Bolshevik party seized power in
1917 in Russia and proclaimed the
creation of a Soviet state under the

leadership of :
(A) Stalin
(B) Lenin
(C) Trotsky
(D) Yeltsin

The concept of Exclusive Economic

Zone is a part of :

(A)

International Humanitarian

Law

(B) Law of the Sea

(C) Law regarding Successor States

(D) Bilateral agreements on free

trade

61.

62.

63.
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SRS FOUr= YR STeTET=

~

shgfeiq 81 3TECl :
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(C) T&feh
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64.

65.

Realist with

International Law occurs because :

compliance

(A) it is in the state’s self interest
to comply

(B) norms and conventions help in

maintaining peace

©)

international organisations

promote peace through
international law

it is upheld by the United
Nations

Match the following (in the context

of Defence Economics) and select the

(D)

correct answer from the codes given

below :
(@ Adam Smith (1) Human Capital
(b) Ricardo (2) Concept of Public

Good

(¢c) Jean Baptiste (3) Finance wars

Say through taxation
not loans
(d) F.W. Hirst (4) Defence expendi-
ture is wasteful,
yet necessary
Codes :

(A) (@)—(2) (b)—3)
B) (@—3) (b)—1)
(C) (a)—4) (b)—3)
(D) (@)—1) (b)~4)

(€)1 (d)—(4)
(€)+2) (d)—(4)
(€)1 (d)—2)
()—3) (d)—2)

64.

65.
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AR SRS I et gl

SO Bd :

(A) TUSI=A1 Efgare A9 Hod

(B) AMe o 9T Ar=AER 3Iddr Tl
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(€)1 (d)—2)
(©)—3) (@d)—2)
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66. The first industrial revolution saw | 66. dfgean sirEfier i TA=N L@

the introduction of : el ?
(A) Electric power (A) ST 9wkt
(B) Steam power (B) STl ekt
(C) Transistors (C) e
(D) Nuclear power (D) STULRTeRd]

67. The Territorial Army is a voluntary | 67 I T¥Teh T €1 Ueh Tt tefeiet STt
part time force working under TR A AR A1 T HATCATEIA!
the : ey
(A) Defence Ministry (A) TRE
(B) Home Ministry

(B) 77
(C) Human Resource Development
Ministry (C) W Her foehr
(D) State Government (D) T "R

68. APEC is : 68. APEC ® :

: : (A) AR dfafre @sma ol

(A) American Pacific Command
AT 3T

(B) An organisation of Asia-Pacific (B) aTiferen ufafthes Hefer T wee
countries e

(C) A group created by ASEAN (C) ASEAN 7 frafor sheteft were
o o . 3T|%-

(D) The original name of Shanghai D) i e g e
Cooperation Organization o
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69.

70.

BSS is an important component of

RMA. BSS refers to the following :

(A) Battle Support System

(B) Battlefield Support System

(C) Battlefield Security System

(D) Brahmos Security System

Which of the following is not a

conflict resolution technique ?

(A) Mediation

(B) Negotiation

(C) Facilitation

(D) Coercion

69.

70.
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(A) Tegeedt
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(C) gfaurertu
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71.

72.

Network Centric Warfare (NCW) is

about the following :
(@) RMA
(z1) Regional Security Network

(zz1) Information Based Warfare

(tv) Integration between different

services

Of the above which of the following

is correct ?

(A) (@) and (iv) are correct

(B) (i) and (iii) are correct
(C) (@) and (iii) are correct

(D) (@@ii) and (iv) are correct

In the age of globalisation the
Chinese describe their economic

policies as :

(A) Socialist

(B) Market Socialism
(C) Mercantalist

(D) Market Economy

72.
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haN ¢

Jeaeh Gfeh Jgusdl & ded AR

(i) RMA
(i) Wefersh & Sreul
(i) Arfgdi=ar sem &It Ig
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73.

74.

75.

“Teeth and Tail ratio” in logistics

refers to :

(A) A ratio between Demand and
Supply

(B) A ratio between Fighting forces

and Supporting forces

(C) A ratio between our forces and

enemy forces

(D) A ratio between men and

material

Which of the following Indian State
does not have a border with
Bangladesh ?

(A) Meghalaya
(B) Assam

(C) Tripura
(D) Manipur

Who is known as the father of India’s
integrated missile development

programme ?

(A) Homi Bhabha

(B) A.P.J. Abdul Kalam
(C) Raja Ramanna

(D) K. Santhanam

73.

74.

75.
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